
الھجینةالمركباتفيالمستخدمةالكھربائیةالمحركات

الكھربائیة؟المحركاتاجزاءمنتعدلاالاتیةمن:واحدة1س
الھواءج-حساسالسرعةد-حساسالثابتب-العضوالدوارالعضوأ-

دائم؟مغناطیسھوالكھربائیةالمحركاتفي:یعتبر2س
السلفد-الثابتج-العضوالدوارب-العضوالمولدأ-

الى؟الاولللمولدالحصانیةالقدرةقیمة:تصل3س
حصان80د-حصان70ج-حصان60ب-حصان50أ-

الى؟الاولللمولدالدورانعزمیصل4س
نیوتن60د-نیوتن55ج-نیوتن50ب-نیوتن45أ-

الى؟تصلمترددبفولتیةالاولالمولد:یعمل5س
فولت600د-فولت500ج-فولت400ب-فولت300أ-

؟معالكوكبیةالمسنناتمجموعةفيالاولالمولد:یتصل6س
القمريد-المسننالشمسيج-المسننالتاجيب-المسننالحلقيالمسننأ-

الاول؟الكھربائيالمولدممیزاتمنلیستالاتیةمن:واحد7س
عالیةكفاءةد-یعطيالوزنج-خفیفالحجمب-صغیرالثمنرخیصأ-

الاول؟الكھربائيالمولدمھماممنتعدلاالاتیةمن:واحدة8س
الاحتراقلمحركالحركةبدءمحركب-یعملالمركمشحنأ-اعادة
القدرةتقسیممجموعةفيتحكمد-عنصرالمركبةجرعلىقادردورانعزمج-یولد

الى؟یصلدورانبعزمالعجلاتالثانيالمولد:یزد9س
نیوتن600د-نیوتن500ج-نیوتن400ب-نیوتن300أ-

؟الىالثانيالكھربائيللمولدالحصانیةالقدرة:تصل10س
حصان80د-حصان70ج-حصان60ب-حصان50أ-

الثاني؟الكھربائيالمولدممیزاتمنتعدالاتیةمن:واحدة11س
ماذكرجمیعد-اقلوصوتج-نعومةالوزنب-خفیفالحجمصغیرأ-



الثاني؟الكھربائيالمولدمھاممنالاتیةمن:واحد12س
د-جمیعالمركملشحنالكبحعندالمولدعملیعملج-اضافیةبقوةالمركبةب-یزوددورانعزمأ-یولد
ماذكر

والسرعة؟الدقیقالموقعتحدیدعلىیعملالحجمصغیراستشعارجھاز:ھو13س
ماذكرجمیعد-الموقعج-حساسالحرارةب-حساسالسرعةأ-حساس

؟السرعةحساس:یثبت14س
محاورد-علىالكھربائيالمحركج-غطاءالكھربائيالمحركب-اسفالكھربائيالمحركداخلأ-

العجلات

؟العاكس:یستخدم15س
ماذكرد-جمیعالمحركتطبیقاتنطاقمنج-یزیدالمترددالتیارمحركب-تسریعالسرعةأ-ضبط

سرعةبأقصىالمترددالتیاریعملعاكلوجودملاحظة**:دون


